


H 1/31

22–03–2013

MAJOR TEST

PRE-MEDICAL : LEADER COURSE (MLT, MLU, MLV)

Your Target is to secure Good Rank in Pre-Medical 2013

BEWARE OF NEGATIVE MARKING

HAVE CONTROL  HAVE PATIENCE  HAVE CONFIDENCE  100% SUCCESS

1. What is the dimensions of a and b in the relation

F = 2a x bt , where F is a force, x is distance

and t is time:

(1) ML1/2 T–2, MLT–4

(2) ML1/2T–1, MLT–4

(3) ML1/2T–2, ML2T–4

(4) Both are dimensionless

2. A homogenous cylinder of mass M and radius

R is rolling with angular velocity  on a horizontal

plane as shown in the figure :

R



x

y

O

The magnitude of angular momentum of the

cylinder about the origin O is

(1) 
2MR

2
 (2) MR2

(3)
23

MR
2

 (4) 2MR2

3. When a copper sphere is heated, maximum

percentage change will be observed in :

(1) Radius (2) Area

(3) Volume (4) Diameter

4. An electric fan has blades of length 30 cm as

measured from the axis of rotation. If the fan is

rotating at 1200 rpm, the acceleration of a point

on the tip of a blade is about :-

(1) 4740 m/s2 (2) 5055 m/s2

(3) 1600 m/s2 (4) 2370 m/s2

5. Young's modulus of steel is 1.9 × 1011N/m2. When

expressed in cgs units of dyne/cm2, it will be equal

to :-

(1) 1.9 × 1010 (2) 1.9 × 1011

(3) 1.9 × 1012 (4) 1.9 × 1013

1. F = 2a x bt a b 

F  x    t  

(1) ML1/2 T–2, MLT–4

(2) ML1/2T–1, MLT–4

(3) ML1/2T–2, ML2T–4

(4)   

2. M R 
 


R



x

y

O

O 


(1) 
2MR

2
 (2) MR2

(3) 
23

MR
2

 (4) 2MR2

3.     
      
(1)  (2) 
(3)  (4) 

4. 30 
1200 
(Tip) 

(1) 4740 m/s2 (2) 5055 m/s2

(3) 1600 m/s2 (4) 2370 m/s2

5. 1.9 × 1011N/m2 

cgs dyne/cm2     

(1) 1.9 × 1010 (2) 1.9 × 1011

(3) 1.9 × 1012 (4) 1.9 × 1013

     
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6. What should be the minimum coefficient of static

friction between the plane and the cylinder, for

the cylinder not to slip on an inclined plane ?

(1) 
1

tan
3

 (2) 
1

sin
3

 (3) 
2

tan
3

  (4) 
2

sin
3



7. The lengths 
1 
and 

2 
of two rods are recorded as

(25.2 ± 0.1) cm and (16.8 ± 0.1)cm find the sum

of the lengths of the two rods with proper error

limits :-

(1) (8.4 ± 0.2) cm (2) (42.0 ± 0.2) cm

(3) 42 cm (4) (42.0 ± 0.1) m

8. A thin circular ring of mass M and radius R is

rotating about its axis with a constant angular

velocity . Two objects, each of mass m, are

attached gently to the opposite ends of a diameter

of the ring. The ring rotates now with an angular

velocity :

(1) 
M

M m




(2) 

(M 2m)

M 2m

 



(3) 
M

M 2m




(4) 

(M m)

M

 

9. The percentage errors in the measurements of

mass and speed are 2% and 3% respectively. How

much will be the maximum percentage error in

the estimate of kinetic energy obtained by

measuring mass and speed ?

(1) 10% (2) 5%

(3) 8% (4) 1%

10. A particle of mass m moves with a constant

velocity. Which of the statements given ahead is

not correct about its angular momentum about

point O?

D

O

1m

A

E

C

B1m

(1) It is zero when it is at A and moving along

OA

(2) It is same at all points along the line DE

(3) It is of the same magnitude but oppositely

directed at B and D

(4) It increases at it moves along the line BC

6. 

 

(1) 
1

tan
3

 (2) 
1

sin
3

 (3) 
2

tan
3

  (4) 
2

sin
3



7. 
1 


2 
(25.2 ± 0.1) cm

 (16.8 ± 0.1)cm 



(1) (8.4 ± 0.2) cm (2) (42.0 ± 0.2) cm

(3) 42 cm (4) (42.0 ± 0.1) m

8. M R  



   m

       

 

(1) 
M

M m




(2) 

(M 2m)

M 2m

 



(3) 
M

M 2m




(4) 

(M m)

M

 

9. 2%

3%    

     

(1) 10% (2) 5%

(3) 8% (4) 1%

10. m 
O   
  

D

O

1m

A

E

C

B1m

(1) A OA 

 

(2) DE     

(3) B D 



(4) BC      
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11. A ball is dropped from a building of height 45m.

Simultaneously another ball is thrown up with a

speed 40 m/s. Find the relative speed of the balls

as a function of time ?

(1) remains 40 m/s

(2) Zero

(3) (40–10t) m/s

(4) First increases then decreases

12. A wheel of moment of inertia 5 × 10–3 kg-m2 is

making 20 rev/sec. The average torque required

to stop it in 10 sec is :

(1) 2 × 10–2 N-m (2) 2× 102N-m

(3) 4× 10–2 N-m (4) 4× 102 N-m

13. 
x
 and 

y
 are the angle made by a vector with

positive X and Y axes respectively. Which set of


x
 and 

y
 is not possible ?

(1) 45°, 60° (2) 60°, 45°

(3) 30°, 45° (4) 60°, 60°

14. A uniform disc of mass M and radius R is mounted

on an axle supported in frictionless bearings. A

light cord is wrapped around the rim of the disc

and a steady downward pull T is exerted on the

cord. The angular acceleration of the disc is :-

(1) 
T

MR
(2) 

MR

T
(3) 

2T

MR
(4) 

MR

2T

15. Find the projection of a vector ˆ ˆA 2i 3j 


 along

the direction ˆ ˆ(i j) :

(1) 
1 ˆ ˆ(i j)
2

 (2) ˆ ˆ6(i j)

(3) 
5 ˆ ˆ(i j)
2

 (4) 
5 ˆ ˆ(i j)
2

 

16. Figure shows a uniform solid block of mass M

and edge lengths a, b and c. Its M.I. about an axis

through one edge and perpendicular (as shown)

to the large face of the block is :

a

A O

B
b

C

D

c

(1) 
2 2M

(a b )
3

 (2) 
2 2M

(a b )
4



(3) 
2 27M

(a b )
12

 (4) 
2 2M

(a b )
12



11. 45m 
40 m/s 

   
(1) 40 m/s  
(2) 
(3) (40–10t) m/s

(4)   
12.   5 × 10–3 kg-m2

20 10 


(1) 2 × 10–2 N-m (2) 2× 102N-m
(3) 4× 10–2 N-m (4) 4× 102 N-m

13. X Y      


x
  

y
 

x
  

y
 

 
(1) 45°, 60° (2) 60°, 45°

(3) 30°, 45° (4) 60°, 60°

14. M R 
(Axile) 
(mounted) (Rim) 

(Pull) T 

(1) 
T

MR
(2) 

MR

T
(3) 

2T

MR
(4) 

MR

2T

15. ˆ ˆ(i j)   ˆ ˆA 2i 3 j 


 

(1) 
1 ˆ ˆ(i j)
2

 (2) ˆ ˆ6(i j)

(3) 
5 ˆ ˆ(i j)
2

 (4) 
5 ˆ ˆ(i j)
2

 

16. M      
a, b c 
 
   

a

A O

B
b

C

D

c

(1) 
2 2M

(a b )
3

 (2) 
2 2M

(a b )
4



(3) 
2 27M

(a b )
12

 (4) 
2 2M

(a b )
12


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17. A cyclist starts from centre O of a circular park

of radius 1km and moves along the path OPRQO

as shown in figure. If he maintains constant speed

of 10m/s, what is his acceleration at point R in

magnitude and direction?
Q

R

P
O 1km

(1) 0.1 m/s2 along RO


(2) Zero

(3) 10 m/s2 along PQ


(4) 100 m/s2 along RO


18. Two particles of masses 4 kg and 8 kg are

separeted by a distance of 12 m. If they are moving

towards each other under the influence of a mutual

force of attraction. then the two particles will meet

each other at a distance of:

(1) 6 m from 8 kg mass

(2) 2 m from 8 kg mass

(3) 4 m from 8 kg mass

(4) 8 m from 8 kg mass

19. If v = 2t + 3t2 m/s find distance travelled in 4th

second :-

(1) 44 m (2) 80 m (3) 64 m (4) 20 m

20. The body is displaced from (0, 0) to (1m, 1m)

along the path x = y by a force  2ˆ ˆF x j yi N 


.

Find the work done by this force :-

(1) 
4

J
3

(2) 
5

J
6

(3) 
3

J
2

(4) 
7

J
5

21. If x = 2t and y = 6t + 4, then find the nature of

trajectory of particle :-

(1) Elliptical (2) Circle

(3) Straight line (4) Parabola

22. Two unequal masses are tied together with a

compressed spring. When the cord is burnt with a

match stick releasing the spring the two masses

fly apart with equal :-

m1 m2

cord

(1) Kinetic energy (2) Speed

(3) Momentum (4) Acceleration

17. 1km 
O 
OPRQO  
10m/s R 
      

Q

R

P
O 1km

(1) 0.1 m/s2 RO


 
(2) 

(3) 10 m/s2 PQ


 

(4) 100 m/s2 RO


 

18. 4 kg 8 kg    

12       

      

     

(1) 8 kg 6 m 

(2) 8 kg 2 m 

(3) 8 kg 4 m 

(4) 8 kg 8 m 
19. v = 2t + 3t2 m/s      

  
(1) 44 m (2) 80 m (3) 64 m (4) 20 m

20. (0, 0) (1m, 1m) x=y 

 2ˆ ˆF x j yi N 


 

:-

(1) 
4

J
3

(2) 
5

J
6

(3) 
3

J
2

(4) 
7

J
5

21.  x = 2t  y = 6t + 4, 

(1)  (2) 
(3)   (4) 

22. 


:-

m1 m2



(1)  (2) 
(3)  (4) 
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23. A particle moves from point A to point B as shown

in the figure. Find the displacement of particle.

[Given OA = 3cm, OB = 4 cm]

15º

75º A

By

x

(1) 5 cm (2) 13 cm (3) 1 cm (4) None

24. An object of mass 5 kg falls from rest through a

vertical distance of 20 m and reaches ground with

a velocity of 10 m/s. Find the work done by air

resistance :- [g = 9.8 m/s2]

(1) 730 J (2) – 730 J (3) 980 J (4) –980 J

25. The wind is blowing in south with a velocity of

4km/hr and observer is travelling with velocity

of 4 3 km / hr  in east. Find out the velocity of

wind appears to observer :-

(1) 8 km/hr, 30º S of W

(2) 4 3 km / hr , south

(3) 4 km/hr, east

(4) 3 km / hr, S W

26. A mass m moving horizontally (along x-axis) with

velocity v collides and sticks to a mass of 3m moving

vertically upward (along y-axis) with velocity 2v.

The final velocity of the combination is :-

(1)
3 1ˆ ˆvi vj
2 4

 (2) 
1 3ˆ ˆvi vj
4 2



(3)
1 2ˆ ˆvi vj
3 3

 (4) 
2 1ˆ ˆvi vj
3 3



27. A car is stopped by applying brakes, it stops after

travelling a distance S. If speed of car is 4 times

and same retarding force is applied then how

much distance it travels before stopping?

(1) 4 S (2) 16 S (3) S (4) 8 S

28. A ball of mass 400 g is dropped from a height of

5m. A boy on the ground hits the ball vertically
upwards with a bat with an average force of 100N

so that it attains a vertical height of 20 m. The
time for which the ball remains in contact with

the bat is
[g = 10 m/s2]:-

(1) 0.12 s (2) 0.08 s (3) 0.04 s (4) 12 s

23. A B 
[
OA = 3cm, OB = 4 cm]

15º

75º A

By

x

(1) 5 cm (2) 13 cm (3) 1 cm (4) 

24. 5 kg 20 m 
10 m/s 
:-
[g = 9.8 m/s2]

(1) 730 J (2) – 730 J (3) 980 J (4) –980 J

25. 4 km/hr   

 4 3 km / hr  

       
(1) 8 km/hr, 30º S of W

(2) 4 3 km / hr ,

(3) 4 km/hr, 

(4) 3 km / hr, S W

26. x-v 
m y-
3m  
 

(1)
3 1ˆ ˆvi vj
2 4

 (2) 
1 3ˆ ˆvi vj
4 2



(3)
1 2ˆ ˆvi vj
3 3

 (4) 
2 1ˆ ˆvi vj
3 3



27.    S 

4 



    
(1) 4 S (2) 16 S (3) S (4) 8 S

28. 400 5 

100 N 

20 
[g = 10 m/s2]:-

(1) 0.12 s (2) 0.08 s (3) 0.04 s (4) 12 s



22–03–2013

6/31 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

29. For shown projection from a tower, find time of

flight :

100m

45°

40  2 m/s

g = 10m/s2

(1) 5 s (2) 8 s (3) 10 s (4) 16 s

30. A body of mass 5 kg at rest explodes into three
fragments having masses in the ratio 2 : 2 : 1.
The fragments with equal masses fly in mutually
perpendicular directions with speed 15 m/s. What
willl be the velocity of lighter fragment :-

(1) 15 m/s. (2) 15 2  m/s.

(3) 30 m/s. (4) 30 2  m/s.

31. A cannon is elevated at an angle of 68º. A shell
is fired from the cannon towards a target but it
drops just before the target. What angle must the
cannon be elevated to hit the target :-
(1) 70º (2) 76º
(3) Less than 68º (4) More than 68º

32. Figure shows the vertical section of frictionless
surface. A block of mass 2 kg is released from
the position A; its KE as it reaches the position
C is:-

(1) 180J        

(2) 140J

(3) 40J

(4) 280J

33. Which of the following statements is correct if

particles are  projected with the same speed and

from the same point :-

A

B

C

(1) Vertical component of velocity for particle C

is maximum

(2) Horizontal component of velocity for particle

B is maximum

(3) Particle A and C are projected at

complementry angles

(4) All of the above

29. 
 

100m

45°

40  2 m/s

g = 10m/s2

(1) 5 s (2) 8 s (3) 10 s (4) 16 s

30. 5 kg   2 : 2 : 1 
  
 15 m/s. 
 :-

(1) 15 m/s. (2) 15 2  m/s.

(3) 30 m/s. (4) 30 2  m/s.

31.  68º     


     
(1) 70º (2) 76º

(3) 68º  (4) 68º  

32. 2 kg A 
C  :-

(1) 180J        

(2) 140J

(3) 40J

(4) 280J

33. 
     :-

A

B

C

(1) C 

(2)   B   

(3) A C 



(4) 
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34. A body is dropped from a height ‘h’. If it acquires
a momentum P, then the mass of the body is :–

(1) 
P

gh2 (2) 
P
gh

2

2

(3)
2gh
P

(4) 
2gh
P

35. A river is flowing from the west to the east at

5m/min. A swimmer on the south bank can swim

at 10 m/min in still water. In what direction he

should swim if he wishes to cross the river through

shortest route :

(1) To the north (2) 30º west of north

(3) due east (4) due west

36. A spring of spring constant 5 × 103 N/m is

stretched initially by 5 cm. from the unstreatched

position. Then work required to stretch it further

by another 5 cm is :-

(1) 25 J (2) 6.25 J

(3) 12.5 J (4) 18.75 J

37. The angular speed of a wheel is 88 rad/sec.

Calculate the number of revolution made by it in

one second :-

(1) 88 (2) 14 (3) 44 (4) 176

38. A body of mass 5 kg is acted upon by a variable

force. The force varies with distance covered by

the body. What is the speed of the body when the

body has covered 25m assuming that the body

starts form rest :-

Force

Distance

(1) 10 m/s (2) 20 m/s

(3) 30 m/s (4) 40 m/s

39. While driving around a curve of 10 m radius, an

observer notice that a pendulum in the car hangs

at an angle of 45º to the vertical. What should

the speedometer read at that time (in m/s)?

(1) 10 m/s (2) 100 m/s

(3) 45 m/s (4) 20 m/s

34. h P
:–

(1) 
P

gh2 (2) 
P
gh

2

2

(3)
2gh
P

(4) 
2gh
P

35.   5m/min  
       10 m/

min       
   
   
(1)    (2) 30º west of north

(3)  (4) 
36. 5 × 103 N/m 5 cm 

5 cm 



(1) 25 J (2) 6.25 J

(3) 12.5 J (4) 18.75 J

37. 88 rad/sec 



(1) 88 (2) 14 (3) 44 (4) 176

38. 5 kg 

25 m 



Force

Distance

(1) 10 m/s (2) 20 m/s

(3) 30 m/s (4) 40 m/s

39. 10 m 
   45º



  (m/s)   

(1) 10 m/s (2) 100 m/s

(3) 45 m/s (4) 20 m/s

  Key Filling     
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40. A marble block of mass 2 kg lying on ice when

given a velocity of 6 m/s is stopped by friction

is 10 s. Then the coefficient of friction is :–

(1) 0.01 (2) 0.02 (3) 0.03 (4) 0.06

41. A motor car is travelling at 60 m/s on a circular

road of radius 1200 m. It is increasing its speed

at the rate of 4m/s2. The acceleration of the

car is :-

(1) 3 m/s2 (2) 4 m/s2

(3) 5 m/s2 (4) 7 m/s2

42. A horizontal force of 10N     

is necessary to just hold a

block stationary against a

wall. The coefficient of

friction between the block

and the wall is 0.2. the

weight of the block is :–

(1) 2 N (2) 20 N (3) 50 N (4) 100 N

43. The speed of a projectile at its maximum height

is 
3

2
 times its initial speed. If the range of

projectile is P times the maximum height attained

by it, then P is equal to :-

(1) 
4

3
(2) 2 3

(3) 4 3 (4) 3/4

44. A body  with mass 5 kg is acted upon by a froce

 ˆ ˆF 3i 4 j N  


. If its initial velocity at t = 0 is

 ˆ ˆv 6i 12 j m / s 


, the time at which it will just

have a velocity along the y-axis is :

(1) never (2) 2 s (3) 10 s (4) 15 s

45. Three identical blocks of masses m = 2kg are
drawn by a force F with an acceleration of
0.6 m/s2 on a frictionless surface, then what is the
tension (in N) in the string between the blocks
B and C:

C AB F

(1) 1.2 (2) 9.2 (3) 4 (4) 9.8

40. 2 
6 m/s   
10 
 :–

(1) 0.01 (2) 0.02 (3) 0.03 (4) 0.06

41. 1200 m  60m/s 

         

4 m/s2 :-
(1) 3 m/s2 (2) 4 m/s2

(3) 5 m/s2 (4) 7 m/s2

42.       

  
10 N 


0.2 :–

(1) 2 N (2) 20 N

(3) 50 N (4) 100 N

43. 


3

2
       

 P   P   

(1) 
4

3
(2) 2 3

(3) 4 3 (4) 3/4

44. 5 kg   ˆ ˆF 3i 4 j N  


    t = 0          

 ˆ ˆv 6i 12 j m / s 
 

y-

(1)  (2) 2 s (3) 10 s (4) 15 s

45. m = 2kg   

0.6 m/s2 F 

B C (N ) 

C AB F

(1) 1.2 (2) 9.2 (3) 4 (4) 9.8

Use stop, look and go method in reading the question
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46. 
    ?

(1) PV
m
 = RT (2) 

m

a
Z 1

V RT
 

(3) Z = 
pb

1
RT

 (4) Z = 1–
2

m

a

V RT

47.        

 :-

(1) 4s (2) 3d (3) 2s (4) 1s

48. 27°C 127°C 

 ?
(1) 3/4 (2) 1/4 (3) 2/3 (4) 1/8

49.  
P  2Q ?

      
(a) P  R   H

1
 = x

(b) P  S   H
2
 = y

(c) 
1

2
S  Q  H

3
 = z

(1)  x + y – 2z (2) x + 2y – 2z

(3) x + y + 2z (4) x – y + 2z

50. 56 ml/sec 
N

2
   N

2
  

 ?

(1) 79.19 ml/sec. (2) 112 ml/sec.

(3) 56 ml/sec. (4) 90 ml/sec.

51. 100°C 
– x kJ/mol.  


(Assume BP of C
6
H

6
 is 78°C) in(kJ)

(1) – x – 1.5 RT (2) – x + 1.5 RT

(3) – x + 0.5 RT (4) – x

52. 0.05  K
4
[Fe(CN)

6
]    

 :-
(1) 1.8g (2) 3.6g (3) 36g (4) 0.36g

53.  N
2(g)

 + O
2(g)

  2NO
(g) 


 :-
(1) H > 0, G < 0 (2) H > 0, G > 0

(3) H < 0, G < 0 (4) H = 0, S > 0

46. At relatively high pressure, vander waal's

equation reduce to ?

(1) PV
m
 = RT (2) 

m

a
Z 1

V RT
 

(3) Z = 
pb

1
RT

 (4) Z = 1–
2

m

a

V RT

47. Which have maximum energy for single

electron species :-

(1) 4s (2) 3d (3) 2s (4) 1s

48. An open vessel containing air is heated from

27°C to 127°C. The fraction of air originally

present which goes out of it is ?

(1) 3/4 (2) 1/4 (3) 2/3 (4) 1/8

49. From the following equations, what is the heat

of a hypothetical reaction

P  2Q ?

(a) P  R   H
1
 = x

(b) R  S   H
2
 = y

(c) 
1

2
S  Q  H

3
 = z

(1)  x + y – 2z (2) x + 2y – 2z

(3) x + y + 2z (4) x – y + 2z

50. The rate of diffusion of a gas having molecular

weight just double of N
2
 gas is 56 ml/sec. The

rate of diffusion of N
2
 gas will be ?

(1) 79.19 ml/sec. (2) 112 ml/sec.

(3) 56 ml/sec. (4) 90 ml/sec.

51. Heat of combustion of benzene at constant

volume and 100°C temperature is – x kJ/mol.

What will be heat of combustion at constant

pressure (Assume BP of C
6
H

6
 is 78°C) in(kJ)

(1) – x – 1.5 RT (2) – x + 1.5 RT

(3) – x + 0.5 RT (4) – x

52. The mass of carbon present in 0.05 mole of

K
4
[Fe(CN)

6
] is :-

(1) 1.8g (2) 3.6g (3) 36g (4) 0.36g

53. For the reaction  N
2(g)

 + O
2(g)

  2NO
(g)

The correct staement is :-

(1) H > 0, G < 0 (2) H > 0, G > 0

(3) H < 0, G < 0 (4) H = 0, S > 0

Take it Easy and Make it Easy
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54. In a reaction vessel of 2 litre capacity 3 mole

N
2
 reacts with 2 mole O

2
 to give 1 mole NO

at equilibrium. The K
C
 of the reaction is :-

N
2
 + O

2
   2NO

(1) 1.25 (2) 4/15 (3) 1/15 (4) 4/3

55. Which of the following is correct for isolated

system is free expansion ?

(1) q = 0 (2) U = 0

(3) W = 0 (4) All of above

56. The solubility product of BaCrO
4
 is 3.6 × 10–9

Its solubility is :-

(1) 6 × 10–4 M (2) 3.6 × 10–5 M

(3) 6 × 10–6 M (4) none of these

57. Which of the following is incorrect match :-

(1) A liquid vaporizes – S 0 

(2) Reaction is nonspontaneous at all

temperature and H is + ve – S 0 

(3) Reversible expansion of ideal gas – TS 0 

(4) Intermixing of non reacting gases – S 0 

58. Which aqueous solution exhibits highest

boiling point :-

(1) 0.015M glucose (2) 0.01M KNO
3

(3) 0.015M urea (4) 0.01M Na
2
SO

4

59. The value of 
fH  for NH

3
 is – 92.0 kJ/mol.

This what will be enthalpy change for

2NH
3(g)

  N
2(g)

 + 3H
2(g)

(1) 92 kJ (2) 46 kJ

(3) 26 kJ (4) 184 kJ

60. 0.5 mole H
2
SO

4
 is mixed with 0.2 mole Ca(OH)

2

then maximum number of molecules of CaSO
4

produced are :-

(1) 1.2 × 1023 (2) 6 × 1023

(3) 2.4 × 1023 (4) 3 × 1023

61. Which of the following is correct representation

of heat of formation reaction ?

(1) C
(gr.)

 + O
2(g)

  CO
2(g)

(2) H
2
O

()
 + SO

3(g)
  H

2
SO

4()

(3) CO
2(g)

 + H
2
O

() 
 H

2
CO

3()

(4) C(s) + 4H
(g)

  CH
4(g)

54. 2 3 N
2
 , 2  O

2
  

1  NO   K
C
  :-

N
2
 + O

2
   2NO

(1) 1.25 (2) 4/15 (3) 1/15 (4) 4/3

55.       ?

(1) q = 0 (2) U = 0

(3) W = 0 (4) 

56. BaCrO
4
  3.6 × 10–9  

  :-
(1) 6 × 10–4 M (2) 3.6 × 10–5 M

(3) 6 × 10–6 M (4)   
57.     :-

(1)    – S 0 

(2) H 

+ ve    S 0 

(3)     – TS 0 

(4)     – S 0 

58.  :-

(1) 0.015M  (2) 0.01M KNO
3

(3) 0.015M  (4) 0.01M Na
2
SO

4

59. NH
3
 

fH    – 92.0 kJ/mol   

 
fH    

2NH
3(g)

  N
2(g)

 + 3H
2g

(1) 92 kJ (2) 46 kJ

(3) 26 kJ (4) 184 kJ

60. 0.5  H
2
SO

4
 0.2  Ca(OH)

2
 

CaSO
4
 

 :-

(1) 1.2 × 1023 (2) 6 × 1023

(3) 2.4 × 1023 (4) 3 × 1023

61. 
 ?

(1) C
(gr.)

 + O
2(g)

  CO
2(g)

(2) H
2
O

()
 + SO

3(g)
  H

2
SO

4()

(3) CO
2(g)

 + H
2
O

() 
 H

2
CO

3()

(4) C(s) + 4H
(g)

  CH
4(g)
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62. Which among the following conditions,

increases the yield of the product in the

equilibrium 3X + Y  4Z + heat :-

(1) increase in pressure

(2) decrease in pressure

(3) increase in temperature

(4) decrease in temperature

63. 0
fU  of formation of 4(g)CH  at certain

temperature is – 393 kJ/mol. The value of

0
fH is :-

(1) Zero (2) < 0
fU

(3) > 0
fU (4) Equal to 0

fU

64. Match the boiling point with K
b
 for x,y and

z if molecular weight of x, y and z are same :-

Boiling point  K
b

x 100 0.98

y 27 0.68

z 253 0.53

(1) K
b
(x) =0.53 , K

b
(y) = 0.68 , K

b
(z)= 0.98

(2) K
b
(x) =0.68 , K

b
(y) = 0.53 , K

b
(z)= 0.98

(3) K
b
(x) =0.98 , K

b
(y) = 0.68 , K

b
(z)= 0.68

(4) None of these

65. Which of the following shows an intensie

properties ?

(1) Specific heat (2) Mass

(3) Volume (4) Enthalpy

66. The dissociation constant of a monobasic acid

which is 3% dissociated in
N

20
solution is :-

(1) 4.5 × 10–5 (2) 6.1 × 10–5

(3) 5 × 10–3 (4) 4.5 × 10–4

67. Which of the following is incorrect match ?

Colum–I Column–II

(Crystal) (C. no.)

(1) NaCl 6 : 6

(2) CaF
2

8 : 4

(3) Na
2
O 4 : 8

(4) ZnS (Wurtzite) 6 : 6

62.  

3X + Y  4Z +   :-

(1)  

(2)  
(3)  
(4)  

63. CH
4
 ( 0

fU ) 

– 393 kJ/mol.  0
fH     :-

(1) Zero (2) < 0
fU

(3) > 0
fU (4) Equal to 0

fU

64. x, y z K
b
 

x,y  z    :-
   K

b

x 100 0.98

y 27 0.68

z 253 0.53

(1) K
b
(x) =0.53 , K

b
(y) = 0.68 , K

b
(z)= 0.98

(2) K
b
(x) =0.68 , K

b
(y) = 0.53 , K

b
(z)= 0.98

(3) K
b
(x) =0.98 , K

b
(y) = 0.68 , K

b
(z)= 0.68

(4)   

65.   ?

(1)   (2) 

(3)  (4) 

66. 
N

20
 3%   :-

(1) 4.5 × 10–5 (2) 6.1 × 10–5

(3) 5 × 10–3 (4) 4.5 × 10–4

67.     ?

–I –II

() ()

(1) NaCl 6 : 6

(2) CaF
2

8 : 4

(3) Na
2
O 4 : 8

(4) ZnS (Wurtzite) 6 : 6

      
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68. Number of atoms in 560 g Fe (atomic mass

56 g mol–1) is :-

(1) Twice that of 70 g N

(2) Half that of 20 g H

(3) both (1) and (2) are correct

(4) none is correct

69. Edge length of fluorite CaF
2
 crystal is 200 pm,

what will be interionic distance in CaF
2

structure?

(1) 100 3 (2) 50 3

(3) 400 3 (4) 3

70. The freezing point of 0.2 molal K
2
SO

4
 is –1.1°C.

The % dissociation of K
2
SO

4
 is :-

(K
f
 of water is 1.86°C/m)

(1) 81.5% (2) 97.5%

(3) 90.75% (4) 72.15%

71. What will be radius of cation (A+) in AB if

radius of anion is 100 pm and coordination

number is 6 ?

(1) 250 pm (2) 41.4 pm

(3) 20.5 pm (4) 10 pm

72. A compound was found to contain 5.33%
nitrogen by mass. The minimum molecular
weight of compound is :-

(1) 26 (2) 2600 (3) 260     (4) 26000

73. Out of following pairs of e– , identify pair of

e– present in degenerate orbitals :-

(1) (a) n = 3,  = 2, m

 = –2 , m

s
 = – 

1

2

(b) n = 3,  = 2, m

 = – 1, m

s
 = – 

1

2

(2) n = 3,  = 1, m

 = 1 , m

s
 = + 

1

2

n = 3,  = 2, m

 = 1,  ms = + 

1

2

(3) (a) n = 4,  = 1, m

 = 1 , m

s
 = + 

1

2

(b) n = 3,  = 2, m

 = 1, m

s
 = + 

1

2

(4) (a) n = 3,  = 2, m

 = + 2 , m

s
 = – 

1

2

(b) n = 3,  = 1, m

 = 0, m

s
 = + 

1

2

68. 560 g Fe (56 g mol–1) 
 :-

(1) 70 g N  
(2) 20 g H  
(3) (1)  (2)  
(4)    

69. CaF
2
 200 pm 

CaF
2
  ?

(1) 100 3 (2) 50 3

(3) 400 3 (4) 3

70. 0.2  K
2
SO

4
  –1.1 °C K

2
SO

4
 

%  :-
(K

f
 1.86°C/m )

(1) 81.5% (2) 97.5%

(3) 90.75% (4) 72.15%

71. AB (A+) 

 100 pm   6  ?

(1) 250 pm (2) 41.4 pm

(3) 20.5 pm (4) 10 pm

72.  5.33% 
  :-

(1) 26 (2) 2600 (3) 260   (4) 26000

73. e–  
 :-

(1) (a) n = 3,  = 2, m

 = –2 , m

s
 = – 

1

2

(b) n = 3,  = 2, m

 = – 1, m

s
 = – 

1

2

(2) n = 3,  = 1, m

 = 1 , m

s
 = + 

1

2

n = 3,  = 2, m

 = 1,  ms = + 

1

2

(3) (a) n = 4,  = 1, m

 = 1 , m

s
 = + 

1

2

(b) n = 3,  = 2, m

 = 1, m

s
 = + 

1

2

(4) (a) n = 3,  = 2, m

 = + 2 , m

s
 = – 

1

2

(b) n = 3,  = 1, m

 = 0, m

s
 = + 

1

2
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74. The pH of 0.004N H
2
SO

4
 solution is :-

(1) 2.4 (2) 2.1 (3) 3.4 (4) 2.9

75. An element having atomic no. 16, how many

e– will have spin quantum number S = + 
1

2

in its electronic configuration :-

(1) 4 (2) 8 (3) 16 (4) 9

76. The value of K
C
 for the reaction :

A + 3B  5C is 0.5 at 327°C then the value

of K
P
 is :-

(1) 164.5 (2) 24.6

(3) 12.3 (4) 246

77. The orientation of atomic orbital is governed

by :-

(1) Principle quantum number

(2) Azimuthal quantum number

(3) Magnetic quantum number

(4) Spin quantum number

78. 15g of methyl alcohol is dissolved in 35g water.

The mass percentage of methyl alcohol in

solution is :-

(1) 70% (2) 50% (3) 30% (4) 75%

79. Which of the following transition in H atom

will give rise to photon having minimum

frequency ?

(1) n = 5 to n = 3 (2) n = 6 to n = 1

(3) n = 5 to n = 4 (4) n = 6 to n = 5

80. Which of the following salt solution undergoes

anionic hydrolysis :-

(1) BaCl
2

(2) K
2
CO

3

(3) Al
2
(SO

4
)

3
(4) Cu(NO

3
)

2

81. If the nuclear radius of 27Al is 3.6 fermi. Then

what will be approximate nuclear radius of
64Cu in fermi ?

(1) 4.8 (2) 3.8

(3) 2.8 (4) 1.4

82. Given the following equilibrium in gas phase :-

CO + H
2
O 

K  CO
2
 + H

2

2CO + O
2
 1K

 2 CO
2

2H
2
 + O

2
 2K  2 H

2
O

The equilibrium constants are related as :

(1) K = K
1
.K

2
(2) K = (K

1
.K

2
)2

(3) K = (K
1
/K

2
)1/2 (4) K = K

1
/K

2

74. 0.004N H
2
SO

4
  pH  :-

(1) 2.4 (2) 2.1 (3) 3.4 (4) 2.9

75. 16 e– 

 S = + 
1

2
  :-

(1) 4 (2) 8 (3) 16 (4) 9

76. A + 3B  5C 327°C K
C 


0.5  K
P
     :-

(1) 164.5 (2) 24.6

(3) 12.3 (4) 246

77. 
  :-
(1) 
(2)  
(3) 
(4) 

78. 15g 35g  
  %  :-

(1) 70% (2) 50% (3) 30% (4) 75%

79. H 
 ?

(1) n = 5 to n = 3 (2) n = 6 to n = 1

(3) n = 5 to n = 4 (4) n = 6 to n = 5

80. 
 :-
(1) BaCl

2
(2) K

2
CO

3

(3) Al
2
(SO

4
)

3
(4) Cu(NO

3
)

2

81.  27Al   3.6 fermi   64Cu

    ?
(1) 4.8 (2) 3.8

(3) 2.8 (4) 1.4

82.    :-

CO + H
2
O 

K  CO
2
 + H

2

2CO + O
2
 1K

 2 CO
2

2H
2
 + O

2
 2K  2 H

2
O

  :

(1) K = K
1
.K

2
(2) K = (K

1
.K

2
)2

(3) K = (K
1
/K

2
)1/2 (4) K = K

1
/K

2
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83. If pK
b
 of X– is 9.3 at 25°C then the ionisation

constant of weak acid HX is :-

(1) 4.7 (2) 2 × 10–5

(3) 5 × 10–4 (4) 2 × 10–4

84. Which pair shows a contraction in volume on

mixing along with evolution of heat :-

(1) CHCl
3
 + C

6
H

6
(2) H

2
O + HCl

(3) H
2
O + HNO

3
(4) All

85. A reversible reaction will proceed from right

to left if :-

(1) Q = 0 (2) Q = K
C

(3) Q < K
C

(4) Q > K
C

86. The maximum volume at STP is occupied by :-

(1) 12.8g SO
2

(2) 3.02 × 1023 molecule CH
4

(3) 0.5 mol NO
2

(4) 1g molecule CO
2

87. What volume of oxygen gas at STP needed for

the complete combustion of 1 litre propane ?

(1) 10 litre (2) 7 litre

(3) 5 litre (4) 3.5 litre

88. In the reaction :

N
2
O

4
(g)   2NO

2
(g)

The initial pressure is 450 mm. At equilibrium total

pressure is 600 mm then K
P
 of the reaction is -

(1) 1 (2) 300

(3) 900 (4) 30

89. Which statement is true for solution of 0.020M

H
2
SO

4
 ?

(1) 2 litre of the solution contains 0.020 mole
2

4SO ions

(2) 2 litre of the solution contains 0.080 mole
H+ ions

(3) 1 litre of the solution contains 0.020 mole
H+ ions

(4) none of these

90. The weakest base among the following is :-

(1) C
2
H

5
O– (2) NO

3
–

(3) Cl– (4) F–

83.  25°C   X– pK
b
 9.3 HX

  :-

(1) 4.7 (2) 2 × 10–5

(3) 5 × 10–4 (4) 2 × 10–4

84. 
 :-

(1) CHCl
3
 + C

6
H

6
(2) H

2
O + HCl

(3) H
2
O + HNO

3
(4) 

85.  :-

(1) Q = 0 (2) Q = K
C

(3) Q < K
C

(4) Q > K
C

86. STP   :-
(1) 12.8g SO

2

(2) 3.02 × 1023  CH
4

(3) 0.5 mol NO
2

(4) 1g  CO
2

87. STP 1 
?

(1) 10 litre (2) 7 litre

(3) 5 litre (4) 3.5 litre

88.  :
N

2
O

4
(g)   2NO

2
(g)

   450 mm     

600 mm   K
P
  -

(1) 1 (2) 300 (3) 900 (4) 30

89. 0.020M H
2
SO

4
  ?

(1) 2  0.020  2
4SO   

(2) 2    0.080  H+  

(3) 1    0.020  H+  

(4)   

90.   :-

(1) C
2
H

5
O– (2) NO

3
–

(3) Cl– (4) F–

       
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91. Reproduction can not be taken as defining

property of living because :-

(1) Unicellular organisms reproduce by cell

division

(2) Multicellular organisms reproduce by

vegitative, asexaul and sexual method

(3) Few organism of this nature are sterile

(4) Reproduction is not a metabolic property of

living organism

92. Viruses having RNA genome evolve faster,

because :-

(1) RNA is unstable and mutate at a faster rate

(2) RNA is more stable

(3) RNA is first genetic material

(4) RNA is a main genetic material

93. Metabolism can be exhibited by :-

(1) Only plant

(2) Plant and animal both

(3) Plant animal and fungi only

(4) Plant animal fungi and microbes

94. Which of the following protein enables glucose

transport in to cell :-

(1) Collagen (2) Trypsin

(3) Pepsin (4) GLUT-4

95. Find the incorrect statement :-

(1) No non-living object exhibits metabolism

(2) Metabolic reactions can be demonstrated in

cell free medium

(3) Metabolism is a defining feature of all living

organisms without exception

(4) Isolated metabolic reactions in vitro are non

living reactions.

96. Which of the following structure of protein is

necessary for the many biological activities of

protein :-

(1) Primary (2) Secondary

(3) Tertiary (4) Quaternary

97. Which of the following is a feature of all living

beings ?

(1) Memory

(2) Locomotion

(3) Self consciousness

(4) Conciousness

91. 
 :-
(1) 


(2) 
  

(3)  

(4) 

92. RNA 



(1) RNA 

(2) RNA  

(3) RNA  

(4) RNA  
93.  :-

(1) 
(2) 
(3) 
(4) 

94.       


(1) (2) 
(3)  (4) GLUT-4

95. 

(1)    
(2) 


(3)  


(4)   

96. 

 

(1)  (2) 

(3)  (4) 

97. 

(1) 

(2) 

(3) 

(4) 

   
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98. Which of the following is correct for glycogen:-

(1) The right end is called the reducing end

(2) The left end is called reducing end

(3) Stored food in plant

(4) Polymer of -D-glucose

99. Living organism can respond against :-

(1) Physical and chemical stimuli

(2) Chemical and Biological stimuli

(3) Both (1) and (2)

(4) None of the above

100. Several protein may be produced at the same time

by :-

(1) Polysome (2) Informosome

(3) Spliceosome (4) Ribosome

101. The property of self consciousness can be

observed :-

(1) in non-vertebrates (2) in vertebrates

(3) in human beings only(4) in all mammals

102. All of the following would be found in a

prokaryotic cell except :-

(1) m-RNA, t-RNA, r-RNA, ribosome

(2) Informosome

(3) Coupled transcription & translation

(4) Ribosome, Polysome

103. When name of plants is hand written by Binomial

system then it is written in Italics. The italics name

represents their :-

(1) German origin

(2) Latin origin

(3) Greek origin

(4) All of the above

104. Protein amino acids are :-

(1) -amino acid (2) –amino acid

(3) –amino acid (4) Non rotatory

105. The convenient categories which we use to study

the organism in classification are called

(1) Order (2) Class

(3) Division (4) Taxon

106. Non essential fatty acid are :-

(1) Saturated fatty acid

(2) Unsaturated fatty acid

(3) Liquid at room temperature

(4) Not synthesized in animal body

98.  

(1)   
(2)   

(3) 
(4) -D-

99.  :-
(1)  
(2)  
(3) (1) (2) 
(4)  

100. 


(1)  (2) 
(3)  (4) 

101. :-

(1)  (2) 

(3)  (4)   

102. 



(1) m-RNA, t-RNA, r-RNA, 

(2) 

(3) 

(4) 
103.           

         
  :-
(1) 
(2) 
(3) 
(4) 

104. 

(1) - (2) –
(3) – (4) 

105. 

 
(1)  (2)  (3)  (4) 

106. 
(1) 

(2) 
(3) 
(4)   
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107. On the Basis of characteristics living organism can

be grouped into different taxa. This process of
grouping is called :-

(1) Classification (2) Taxonomy

(3) Systematics (4) New systematics

108. Araban and xylans are :-

(1) Pentose sugar

(2) Polymer of pentose sugar

(3) Polymer of hexose sugar

(4) Hexose sugar

109. Systematics deals the study of :-

(1) Diversity of living organism

(2) Classification of organism

(3) Diversities of organism including their

interrelation ship

(4) None of the above

110. Linkage at the site of branching in starch and
glycogen is :

(1)  1 – 4 (2) 1 – 4

(3)1 – 6 (4) 1 – 6

111. In 'Panthera leo' leo represents :-

(1) a higher taxonomic category as compared to
Panthera

(2) a lower taxonomic category as compare to
Panthera

(3) Panthra is a higher taxonomic category as
compared to leo

(4) (2) and (3) both are correct
112. Simplest amino acid is :-

(1) Glycine (2) Valine

(3) Isoleucine (4) Proline

113. When one moves from species to kingdom in

taxonomic hierarchy the shared common character
from one taxon to another taxon :-

(1) can increase
(2) can decrease

(3) always decrease
(4) can decrease or increase

114. The mineral elements required for phloem
transport :-
(1) Cu (2) I
(3) Boron (4) Na+

115. Correct sequence of taxonomic categories :-

(1) species order  phylum  kingdom

(2) genus species  order  kingdom

(3) species genus  order  phylum

(4) genus order  family  phylum

107. 

 :-

(1)  (2) 

(3)  (4)  
108. 

(1) 
(2) 
(3) 
(4) 

109.   :-

(1)  

(2) 

(3) 

(4)  
110.  


(1)  1 – 4 (2) 1 – 4
(3)1 – 6 (4) 1 – 6

111.  'Panthera leo'  leo  :-
(1) Panthera   (taxonomic

category) 
(2) Panthera   taxonomic

category 
(3) Panthera  taxonomic category  leo

 
(4) (2) (3) 

112. 
(1)  (2) 
(3)  (4) 

113.   (Kingdom)

   
 :-
(1) 
(2) 
(3) 
(4)  

114. 
(1) Cu (2) I

(3)  (4) Na+

115. (categories) 
 :-
(1)      
(2)      
(3)      
(4)      



22–03–2013

18/31 H

MAJOR TEST

Your Target is to secure Good Rank in Pre-Medical 2013

TARGET : PRE-MEDICAL 2013 (NEET-UG)

116. Lipid-material is synthesised in :-

(1) Mitochondrion

(2) Ribosome

(3) Golgi-complex

(4) Endoplasmic reticulum

117. Monerans can survive :-

(1) in such a habitat where temperature is very low

(2) which temperature is very high

(3) only in the body of living organism

(4) in all types of habitat

118. Exchange of genetic material occur in :-

(1) Prophase (2) Zygotene

(3) Pachytene (4) Diplotene

119. Most extensive metabolic diversity found in :-

(1) Protistan (2) Monerans

(3) Mycota member (4) Plantae member

120. Structural unit of chromosome or chromatin net

is :-

(1) Gene (2) DNA

(3) Nucleosome (4) Chromonema

121.  Archaebacteria can survive in harsh habitat due

to :-

(1) the presence of special type of protein in cell

membrane

(2) the presence of special type protein in

protoplasm

(3) Unique structure of cell wall

(4) none of the above

122. Competitive inhibition of enzyme :-

(1) Is a always irreversible phenomena

(2) Can be removed by increase in substrate

concentration

(3) Increase V. Max and decrease Km-constant

(4) Is not sensitive to pH and temperature

123. Methanogenes are present in the gut wall of :-

(1) Buffaloes (2) Cow

(3) Sheep (4) All of the above

124. Isoenzymes are made up of :-

(1) Ribonucleic acid

(2) Polysaccharide

(3) Tertiary protein

(4) Duarternary protein

125. Which one of the group of Archaebacteria are

responsible for the production of bio gas ?

(1) Halophils (2) Thermoacidophils

(3) Methanogenes (4) all of the above

116.   :-
(1) 
(2) 
(3) 
(4) 

117.  :-
(1)    
(2)   
(3) 

(4)  
118.   :-

(1) Prophase (2) Zygotene

(3) Pachytene (4) Diplotene

119.  :-
(1)  (2) 
(3)  (4) 

120. :-
(1) Gene (2) DNA

(3) Nucleosome (4) Chromonema

121. 
 :-

(1) 


(2)  

(3) 

(4)  
122.  :-

(1)  
(2) 


(3) V. Max Km-


(4) pH 
123.    :-

(1)  (2) 
(3)  (4) 

124.  :-
(1) 
(2) 
(3) 
(4) 

125. (CH
4
) 

  :-
(1)  (2) 
(3)  (4) 
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126. Given diagram is a biochemistry of membrane

structure of human erythrocyte. Choose the correct

answer :-

C

B

A

A B C

(1) Phospholipid Protein Sugars

(2) Proteins Sugars Phospholipids

(3) Sugars Protein Phospholipids

(4) Proteins Phospholipids Sugars

127. Blooms are produced by which one of the

organism in polluted water bodies ?

(1) Archaebacteria (2) Eubacteria

(3) all monerans (4) Blue green algae

128. How many organelle in the list given below have

two-membranes and produce ATP :-

Plastid, Golgi complex, ER, Nucleus,

Transosome, Mitochondrion, Centrosome,

Lysosome, Chromosome, Oxysome, Peroxisome,

Microbodies :-

(1) Six (2) Two (3) Four (4) Five

129. Chemo synthetic autotrophic bacteria usually

oxidise which of the following for ATP production

for the process of chemosynthesis ?

(1) only inorganic compound

(2) only organic compound

(3) both (1) and (2)

(4) none of the above

130. Match the following and give correct answer

(P) On tip (a) Meta centric

(Q) At mid point (b) Telo centric

(R) Near tip part (c) Sub-meta centric

(S) Near mid point (d) Acrocentric

Chromosome TypeCentromere location

P Q R S

(1) a b c d

(2) b a d c

(3) d c b a
(4) c a d b

126. 

:-
C

B

A

A B C

(1) Phospholipid Protein Sugars

(2) Proteins Sugars Phospholipids

(3) Sugars Protein Phospholipids

(4) Proteins Phospholipids Sugars

127.    :-

(1)  (2) 

(3)  (4)  

128. 

ATP   
Plastid, Golgi complex, ER, Nucleus,

Transosome, Mitochondrion, Centrosome,

Lysosome, Chromosome, Oxysome, Peroxisome,

Microbodies :-

(1)  (2)  (3)  (4) 
129. ATP 

  ?

(1) 

(2) 

(3) (1) (2) 

(4)  

130.    

(P) fljs ij (a) Meta centric

(Q) e/; fcUnq ij (b) Telo centric

(R) fljs ds djhc (c) Sub-meta centric

(S) e/; fcUnq ds ikl (d) Acrocentric

xq.klq=k&izdkjxq.klw=k fcUnq dk LFkku

P Q R S
(1) a b c d
(2) b a d c
(3) d c b a
(4) c a d b

        
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131. Which group of bacteria play a great role in

recycling of nutrients like N, P, Fe, S ?

(1) Photoautotrophic bacteria

(2) Heterotrophic bacteria

(3) Saprophytic bacteria

(4) Chemo auto trophic bacteria

132. Network of filamentous and tubular structures in

cytoplasm reffered as :-

(1) Cytoprotein (2) Cytoskeleton

(3) Cilia (4) Enzymes

133. In the given figure (a) and (b) identify the correct

form of bacteria :-

(a) ( )b

(1) Cocci, Bacilli (2) Spirilla, Cocci

(3) Spirilla, Bacilli (4) Bacilli, Vibrio

134.

B

A

C

D

Observed the above diagram and give correct answer.

  

A B C D

(1) Stroma Outer-membrane Cristae Ribosome

(2) Outer-membrane Stroma Granum Fret channel

(3) Granum Stroma Cristae PS

(4) None of these

135. The given figure is representing :-

Heterocyst

(1) Filamentous green algae

(2) Filamentous yellow green algae

(3) Filamentous BGA

(4) Actinomycete

131. N, P, Fe, S 
  ?

(1) 
(2) 
(3) 
(4) 

132.   
 :-
(1)  (2) 
(3)  (4) 

133.   :-

(a) ( )b

(1)  (2) 

(3)  (4) 

134.

B

A

C

D



  

A B C D

(1) Stroma Outer-membrane Cristae Ribosome

(2) Outer-membrane Stroma Granum Fret channel

(3) Granum Stroma Cristae PS

(4) buesa ls dksbZ ugha

135.   :-



(1)  
(2) 
(3) 
(4) 
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136. Floral diagram of two plants are given below.

These diagrams belong to-

(1) Allium sativum and Solanum melongena

(2) Aloe vera and Solanum tuberosum

(3) Pisum sativum and Solanum nigrum

(4) Cicer arietinum and Aloe vera

137. The given figure representing :-

(1) a bacterial cell

(2) endospore of bacteria

(3) binary fissian in bacteria

(4) budding in bacteria

138. In the given figure identify cambium (A) and

(B) -

Epidermis
Cortx

Primary
phloem

Primary
xylem

Cambium

Cambium
(B)

(A)

(1) (A) Cork cambium,

(B) Vascular cambium

(2) (A) Interfascicular cambium,

(B) Intrafascicular cambium

(3) (A) Intrafascicular cambium,

(B) Interfascicular cambium

(4) (A) Vascular cambium,

(B) Cork cambium

139. Desmids are placed according to Whittaker

classification in

(1) Pyrrophyta

(2) Protozoans

(3) Crysophytes

(4) Both in pyrrophyta and crysophyta

136. 


(1) 
(2) 
(3) 
(4)  

137.   :-

(1) 
(2)  
(3)  
(4)  

138.  (A) (B)  -

Epidermis
Cortx

Primary
phloem

Primary
xylem

Cambium

Cambium
(B)

(A)

(1) (A) ,
(B) 

(2) (A) 
(B) 

(3) (A) 
(B) 

(4) (A) 
(B) 

139. :-

(1) 

(2) 

(3) 

(4) 
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140. Find out the correct sequence of a labelling-

(1) A-Parenchyma, B–Cambium, C-Phloem

(2) A-Phloem, B-Cambium, C-Phloem

(3) A-Phloem, B-Cambium, C-Xylem

(4) A-Xylem, B-Cambium, C-Phloem

141. Match the column A with column B and find out

the correct answer :-

Column-A Column-B

(a) Bacteria (P) Soap box

(b) BGA (Q) Mucilagenous shath

(c) Dinoflagellates (R) Red tide

(d) Crysophyte (S) Plasmid

(1) a-S, b-R, c-P, d-Q

(2) a-S, b-R, c-Q, d-P

(3) a-Q, b-P, c-R, d-S

(4) a-S, b-Q, c-R, d-P

142. Inferior ovary is found in :-

(1) Mustard (Cruciferae), Chinarose (Malvaceae),

Brinjal (Solanaceae)

(2) Cucumber (Cucurbitaceae), Sun flower (Asteraceae),

Coffea arabica (Rubiaceae)

(3) Cucumber (Cucurbitaceae), Mustard (Cruciferae),

Brinjal (Solanaceae)

(4) Cucumber (Cucurbitaceae), Sun flower

(Asteraceae), Brinjal (Solanaceae)

143. Match the column-A with column-B and select the

correct answer :-

Column-A Column-B

(a) Linnaeus (P) Group of individual

(b) Benthum Hooker (Q) Natural system of

classification

(c) Whittaker (R) Five kingdom

classification

(d) Taxon (S) Two kingdom

classification

(1) a-S, b-R, c-Q, d-P

(2) a-S, b-Q, c-P, d-Q

(3) a-Q, b-S, c-P, d-Q

(4) a-S, b-Q, c-R, d-P

140. 

(1) A-, B–, C-
(2) A-, B-, C-
(3) A-, B-, C-
(4) A-, B-, C--

141. A B 
 :-

-A -B

(a)  (P) 
(b) BGA (Q) 
(c)  (R) 
(d)  (S) 

(1) a-S, b-R, c-P, d-Q

(2) a-S, b-R, c-Q, d-P

(3) a-Q, b-P, c-R, d-S

(4) a-S, b-Q, c-R, d-P

142.  
(1)     


(2) 


(3)   


(4) 


143. A B 
 :-

-A -B

(a)  (P) 

(b)  (Q) 

(c)  (R) 

(d)  (S) 

(1) a-S, b-R, c-Q, d-P

(2) a-S, b-Q, c-P, d-Q

(3) a-Q, b-S, c-P, d-Q

(4) a-S, b-Q, c-R, d-P
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144. Read the following statements carefully :-

(a) Alternate type of phyllotaxy is found in china

rose, mustard and sunflower plants

(b) Opposite type of phyllotaxy is found in

Calotropis and guava plants

(c) Whorled type of phyllotaxy is found in

 Alstonia plant

(d) Palmately compound leaves are found in

neem plant

(e) In opposite type of phyllotaxy a single leaf

arises at each node in alternative manner

Select the correct and incorrect statement(s) from

the above statements :-

(1) a, b, c and d–correct,e - incorrect

(2) a, d and e - correct, b & c - incorrect

(3) a, b and c – correct, d & e - incorrect

(4) a, b, c and e – correct, d - incorrect

145. In polishing, filtration of oil and syrup :-

(1) Cell wall of dinoflagellates are used

(2) diatomaceous soil is used

(3) both (1) and (2)

(4) silica particles are used

146. Match the column I with column II

Column-I Column-II

(a) Apical cell theory (i) Hanstein

(b) Histogen theory (ii) Schmidt

(c) Korper-kappe (iii) Nageli

theory

(d) Tunica-corpus (iv) Scheupp

theory

(1) a-i, b-iii, c-iv, d-ii (2) a-iii, b-ii, c-iv, d-i

(3) a-iii, b-i, c-ii, d-iv (4) a-iii, b-i, c-iv, d-ii

147. Chief producer of ocean are :-

(1) Diatom (2) Dino flagellates

(3) Englmoids (4) BGA

148. You have been given a transverse section of a
plant part in which vascular bundles are radial,
polyarch, endodermis with casparian strips &
xylem vessels appear circular or oval in T.S.
Identify the plant material.
(1) T.S. of dicot stem
(2) T.S. of dicot root
(3) T.S. of monocot stem
(4) T.S. of monocot root

144.   
(a)    
  

(b) 
 

(c) 


(d)  
(e) 


    

(1) a, b, c d– e – 
(2) a, d e – , b  c – 
(3) a, b c – , d e – 
(4) a, b, c e – , d – 

145. 
  :-
(1)  
(2) 
(3) (1) (2) 
(4)  

146. I   II 
-I -II

(a)   (i) 

(b)   (ii) 

(c)   (iii) 

(d)  (iv) 



(1) a-i, b-iii, c-iv, d-ii (2) a-iii, b-ii, c-iv, d-i

(3) a-iii, b-i, c-ii, d-iv (4) a-iii, b-i, c-iv, d-ii

147.  :-
(1)  (2) 
(3)  (4)  

148. (T. S.) 
 
T.S.  

(1) 
(2) 
(3) 
(4) 
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149. Match the column-A with column-B and find the

correct answer :-

Column-A Column-B

(a) Wheat rust (P) Yeast

(b) Antibiotics (Q) Penicillium

(c) Mushroom (R) Puccinia

(d) Unicellular fungi (S) Gill

fungi

(1) a-Q, b-P, c-R, d-S (2) a-Q, b-P, c-S, d-R

(3) a-Q, b-S, c-P, d-R (4) a-R, b-Q, c-S, d-P

150. Fill in the blanks with suitable words given in the

options :

During secondary growth phellogen cuts off cells

on both sides. The outer cells differentiate into

phellem while the inner cells differentiate into

phelloderm. .....(a)..... is a non-technical term that

refers to all tissues exterior to the vascular

cambium. Bark that is formed early in the season

is called early or .....(b)..... bark. Towards the end

of the season late or.....(c).....  bark is formed.

.....(d)..... permit the exchange of gases between the

outer atmosphere and the internal tissue of the stem.

  (a) (b) (c) (d)

(1) Cork Spring Autumn Hydathodes

(2) Bark Spring Autumn Hydathodes

(3) Bark Hard Soft Lenticels

(4) Bark Soft Hard Lenticels

151. Which of the following statement is incorrect?

(1)Growth of multicellular organism take place

by cell division :

(2)Binomial nomenclature given by Linnaeus

(3)A group of related species is called order

(4)Museum have collection of preserved

animals

152. Match the column-I with column-II

Column-I Column-II

(a) Actinostele (i) Rhynia

(b) Haplostele (ii) Zea mays

(c) Dictyostele (iii) Psilotum

(d) Atactostele (iv) Dryopteris

(1) (a) - i (b) - iii (c) - iv (d) -ii

(2) (a) - iii (b) - ii (c) - iv (d) -i

(3) (a) - iii (b) - i (c) - ii (d) -iv

(4) (a) - iii (b) - i (c) - iv (d) -ii

149. -A -B 
 :-

-A -B

(a)   (P) 

(b)  (Q) 

(c)  (R) 

(d)  (S) 
(1) a-Q, b-P, c-R, d-S (2) a-Q, b-P, c-S, d-R

(3) a-Q, b-S, c-P, d-R (4) a-R, b-Q, c-S, d-P

150.  



 
.....(a)..... 


.....(b)..... 
.....(c).....  
 .....(d)..... 
 

  (a) (b) (c) (d)

(1)    
(2)    
(3)    
(4)    

151. 

(1) 



(2)   

(3)  

(4)
152. -I -II 

-I -II

(a)  (i) 
(b)  (ii) 
(c)  (iii) 
(d)  (iv) 
(1) (a) - i (b) - iii (c) - iv (d) -ii

(2) (a) - iii (b) - ii (c) - iv (d) -i

(3) (a) - iii (b) - i (c) - ii (d) -iv

(4) (a) - iii (b) - i (c) - iv (d) -ii
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153. Which of the following protozoan causes sleeping

sickness disease?

(1)  Leishmania (2) Monocystis

(3) Plasmodium (4) Trypanosoma

154. Find out correct statements from the following-

(a) Rod cells are found in the endocarp of drupe

fruits

(b) Tricho-sclereids are found in the seed coats

of legume seeds

(c) Stone cells are found in the guava and pear

fruits

(d) Osteo-sclereids are found in the leaves of

Hakea & Osmanthus

(e)Macro- sclereids are found in the seed coats of

pulse seeds

(1) a and c (2) c,d and e

(3) b,d and e (4) a,c and d

155. Consider the following five statements [A-E] :

(A) Cell structure

(B) Thallus organisation

(C) Mode of nutrition

(D) Reproduction

(E) Phylogenetic relationship

How many of the above statements are correct for

main criteria of Whittaker classification?

(1) Two (2) Three (3) Four (4) Five

156. Find out incorrect statements from the following-

(a) Histogen theory is most valid for root apex

organisation

(b) Periblem forms stele

(c) Corpus forms cortex and stele

(d) Procambium forms ground tissue system

(e) Duplex is found in all gymnosperms

Options :

(1) a and c (2) a,b and d

(3) b,d and e (4) b,d and a

157. Which of the following are believed to be

primitive relative of animals?

(1) Poriferans (2) Protozoans

(3) Mycoplasma (4) Slime mold

158. Find out correct statements about cockroach :-

(A) Anal cerci present both male and female

(B) Excretory organ are nephridia

(C) Nocturnal, cursorial animal

(D) 3-pair legs, 3 pair wings

(1) A, B, C (2) A, C

(3) C, D (4) B, C, D

153.  

(1)   (2) 

(3)  (4) 
154. 

(a) 


(b) 
  

(c) 


(d) 


(e)
 

(1) a c (2) c,d  e
(3) b,d e (4) a,c  d

155. (A-E)  
(A) 
(B) 
(C) 
(D) 
(E) 


(1)  (2)  (3)  (4) 

156. 
(a) 
 

(b)  
(c)  
(d)   
(e)   
Options :

(1) a and c (2) a,b and d

(3) b,d and e (4) b,d and a

157.     



(1)  (2) 

(3)  (4) 
158.  :-

(A)   
(B)  
(C) 
(D) 3-, 3 
(1) A, B, C (2) A, C

(3) C, D (4) B, C, D
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159. Read the following four (A-D) statements

carefully

(A) Heterotrophic eukaryotic multicellular

organisms

(B) Mode of nutrition is holozoic

(C) Autotropic eukaryotes multicellular organism

(D) Show elaborate sensory and neuromotor

mechanism

How many of the above statements are correct for

Kingdom Animalia?

(1) Two (2) Three

(3) Four (4) One

160. The head of the cockroach is formed by the fusion

of how many segments ?

(1) Five (2) Six (3) Nine (4) Ten

161. How many phyla of animal kingdom given below

have radial symmetry?

Porifera, Cnidaria, Ctenophora, Nematoda,

Mollusca, Echinodermata

(1) Two (2) Five

(3) Four (4) Three

162. In the posterior region of earthworm, the dorsal

blood vessel receive blood from subneural vessel

through :-

(1) Dorso intestinal vessel

(2) Commissural vessel

(3) Septonephridial vessel

(4) Supra oesophageal vessel

163. Given diagram below is the body organisation of

animal, select the correct option represented by A

A

(1) Endoderm (2) Ectoderm

(3) Mesoglea (4) Mesoderm

164. The cloaca in frog is a common chamber for the

urinary tract, reproductive tract and

(1) Alimentary canal

(2) Portal system

(3) Hepatic portal vessels

(4) Lymphatic system

159. (A-D)  

(A) 

(B) 

(C) 

(D)  

   

 

(1)  (2) 

(3)  (4) 
160.    

?
(1)  (2)  (3)  (4) 

161.    

      

(1)  (2) 
(3)  (4) 

162.         
       ?

(1) 

(2) 

(3) 

(4) 
163. 

A 
A

(1)  (2) 

(3)  (4) 
164. ............

 ?

(1) 
(2) 
(3) 
(4) 
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165. Match the correct option of column-A with

column-B and choose the correct answer :

Column-A Column-B

(A) Corals (i) Aschelminthes

(B) Comb plates (ii) Coelenterata

(C) Flame cells (iii) Ctenophora

(D) Pseudocoel (iv) Platyhelminthes

(1) A-ii, B-iii, C-i, D-iv

(2) A-iii, B-ii, C-iv, D-i

(3) A-ii, B-iii, C-iv, D-i

(4) A-iv, B-i, C-iii, D-ii

166. An adult man has, on an average, ......... of WBCs

per cube mm of blood :-

(1) 4000-6000 (2) 6000-8000

(3) 8000-12000 (4) 10,000-15,000

167. Which of the following arthropods consider as

living fossil?

(1) Neopilina (2) Limulus

(3) Balanoglossus (4) Amphioxus

168. Which of the following tissue covers moist surface

of buccal cavity and pharynx ?

(1) Cuboidal epithelium

(2) Columnar epithelium

(3) Transitional epithelium

(4) Compound epithelium
169. Read the following statements ?

(A) Over two-third of all named species of
animals are arthropods.

(B) A soft and spongy layer of skin form
mantle over the body of mollusca.

(C) Dentalium is called tiger shell.
(D) Hemichordata is a nonchordata phylum
How many of the above statements are correct?
(1)Two (2) Three (3) Four (4) Five

170. Consider the following three statements (A-C) and

choose the correct answer to fill the blanks-

A. ........... are the most abundant of all the cells

in blood

B. ........... secrete histamine and involved in

inflammatory reaction

C. ...........  are phagocytic cells which destroy

foreign organism

A B C

(1) Neutrophils Acidophils Monocyte

(2)Erythrocyte Basophils Monocyte

(3)Lymphocyte Basophils Neutrophils

(4)Leucocyte Acidophis Neutrophils

165. -A -B 



-A -B

(A)  (i) 

(B)  (ii) 

(C)  (iii) 

(D)  (iv) 
(1) A-ii, B-iii, C-i, D-iv

(2) A-iii, B-ii, C-iv, D-i

(3) A-ii, B-iii, C-iv, D-i

(4) A-iv, B-i, C-iii, D-ii

166. ......... WBCs 
 :-
(1) 4000-6000 (2) 6000-8000

(3) 8000-12000 (4) 10,000-15,000

167. 


(1)  (2) 
(3)  (4) 

168. 
?
(1) 
(2) 
(3) 
(4) 

169. 
(A) 
(B) 



(C)   
(D) 
  ?
(1)  (2)  (3)  (4) 

170. 
 -
A. ........... 


B. ........... 
 

C. ...........  


A B C

(1)   
(2)  
(3)   
(4)  
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171. Which of the following animal belongs to

tunicates?

(1) Saccoglossus

(2) Amphioxus

(3) Ascidia

(4) Petromyzon

172. Which of the following is correctly matched pair:

(1) Tight junction : Connecting the

cytoplasm and

adjoining cells

(2) Adhering junction : Stop substances from

leaking across a tissue

(3) Gap junction : Keep neighbouring

cells together

(4) None of these

173. Which of the following part of given figure of

Balanoglossus represents collar ?

B

A

C

D

(1) A (2) B (3) C (4) D

174. Which of the following tissue present beneath the

skin and it serves as a support framework for

epithelium :-

(1) Loose connective tissue : Areolar tissue

(2) Dense connective tissue : Ligament and

tendons

(3) Loose connective tissue : Adipose tissue

(4) Specialised connective tissue : Bones and

cartilage

175. Read the following statements (A-D)

(A) Cyclostomes have circular and sucking mouth

having jaw.

(B) Alimentary, urinary and genital canals open

into a common chamber called cloaca

(C) In bat , forelimbs are modified into wings.

(D) Blue whale is the largest fish

How many of the above statements are right?

(1) One (2) Two

(3) Three (4) Four

171. 

(1) 
(2) 
(3) 
(4) 

172.   :
(1)  : 


(2)  : 


(3)  : 


(4) 

173. 
 

B

A

C

D

(1) A (2) B (3) C (4) D

174. 

  :-

(1)  : 

(2)  : 

(3)  : 

(4)  : 

175.  (A-D) 
(A) 


(B) 
  

(C)  
(D)  

   
(1)  (2)  (3)  (4) 

Time Management is Life Management
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176. Given below is the diagramatic sketch of a certain

type of connective tissue. Identify the parts and

their function lebelled A, B, C and D, and select

the right option about them :

A

B

C

D

(1) A-Osteoblast Produce and secrete

fibres

(2) D-Macrophage Secrete heparin and

Histamine

(3) C-Collagen fibres Provide elasticity and

flexibility to the tissue

(4) B-Fibroblast Produce and secrete

fibres and modified

polysaccharides

177. Which of the following is a flightless bird?

(1) Corvus

(2) Pavo

(3) Neophron

(4) Struthio

178. In which of the following operculum absent on

the gills ?

(1) Clarius (2) Myxine

(3) Betta (4) Catla

179. Consider the following four statements (A-D) and

select the correct option which includes all  the

correct one only :-

(A) Skin of Amphibians is moist

(B) Air bladder of fishes regulates buoyancy

(C) Reptiles are homoiothermous animals

(D) In birds , fertilization is internal

Options :

(1) Statements A, B and C

(2) Statements B, C and D

(3) Statements A and C

(4) Statements A, B and D

176. 
A, B, C  D 

 :

A

B

C

D

(1) A -  


(2) D -   


(3) C -  


(4) B -  

 

177. 

(1) 

(2) 

(3) 

(4) 

178.  
 ?
(1)   (2) 
(3)  (4) 

179. (A-D) 


(A)  

(B) 

(C) 

(D)  



(1) A, B C

(2) B, C D

(3) A C

(4) A, B D
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180. -A -B 

-A -B

(A)  (i) 

(B)  (ii) 
(C)  (iii) 

(D)  (iv) 
(1) A-iv, B-iii, C-i, D-ii

(2) A-ii, B-iv, C-i, D-iii

(3) A-iii, B-iv, C-i, D-ii

(4) A-i, B-iii, C-ii, D-iv

180. Match the column-A with column-B and choose

the correct answer :-

Column-A     Column-B

(A) Psittacula (i) Sucking mouth

(B) Pteropus (ii)   Whole life notochord

(C) Petromyzon (iii) Feathers

(D) Branchiostoma (iv) Pinna

(1) A-iv, B-iii, C-i, D-ii

(2) A-ii, B-iv, C-i, D-iii

(3) A-iii, B-iv, C-i, D-ii

(4) A-i, B-iii, C-ii, D-iv

Your moral duty

is that to prove  is 
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SPACE FOR ROUGH WORK /     


